TN o —
= /Jesj—lf? b Sl g BaART
M5 A 7Z9—9U>§:KWR0250—M$
' K=b4TYIY A I7 IO~ M
(P50L3H) F . BEHERR— M
Y—IL7H5 TR KWR0250-T
B Tt &
niEEs k g 25
O] HBERRE mm 0. 003
*%:%5"‘|53 p o WA Y7 +8 (NHLE) mm 1.0
203 ¥7)09 ALK SRHIE—A Y b A 75 74
N'ml RLYAMR 100
SREE YR8l #1500
73 (AIKE) g | =)L £300
2-QA4hIEY I7R=+h M5 X 6 &
i [] . [] I I BEEAEN 1. 0
: o D 50-Mo BRI7EN EEGEREN 0. 35
A ALiBlon - ¢ %o B Ditagawa WPl B E s
| 3 - = BEI7EA (-MAMPa| JO—BEA | 0 4~0 5
SER No. 3 e o T |6 HZ O|0|0|0| EREE C 0~70
T - Iy - = T : R K417
MA:I770-H-} (M5) - I = BN
MF : BERZA— b (M5) = 6. 0 |
: | | 1 | segRn | -
=IT7574] ‘. SERc:sNO ; ] Be : oS of '. | .' 5. 1
KWRQ250-T N o | |o . _ P
2. DanTE s - —
- / @73 /'/ ]
2 —+ UDAY) -
1 -k
i L PDED L | T
(@4 383 "0.30.405060 7080 91.0
I7EH MPa
g #
AR, ) -RREERLET,
CAREER SCALE TYPE | KWRO250
4-M5x0. 84VF11. 5 1:1 HAND CHANGER
APPROVAL | INSPECTION | DRW 3D NAVE | OUTSIDE VIEW
| | | 3RD ANGLE
. . DATE _ DRW 1
Kitagawa Corporation @ G NO. 61 G865221 O /2 -
1 | 2 L1 1 1 Lo | 5 | 6




IMaster Cylinder] Model code
6-Air port (M5) 8 9,9 ’§° Master Cylinder
(For jointing) ' KWRO0O250—MA
Electrode option T

mounting surface

Port options A: Air blow port

Too | Adapter F: Seating check port
KWRO250—T

(®50)
Thinned Part

Specifications

Payload kg 25
Repeatability mm 0.003
4-@5. S5hole Lift stroke(Detaching stroke) mm 1. 0
ﬁg?i%f%?u?ﬁ Allowable static moment | Bending 14
32. 5 , N'm | Twisting 100
Air port(MM// \\Air vort (M5) Weight Mastersjde about 500
(For release) For lock) (Main part) g Tool side| about 300
2-DA4hT7.8 gpin @73 Air Jointing M5 X 6
MA-ATTBlow \\\Tsﬁﬂ il ] il | M M | il Use air Max. operating pressure 1.0
MF:Check N EIE é). Reloche ° i o B CWRODSOMe p"essﬂds gin.?perating pressure 2 3:
i w0 ° m.g alDesign pressure .
\EJ:\:\AirBo Lokk o | €B® x| o L awa Air bl (=MA) 0. 4~0. 5
e w — © N Sl e ir blow pressure . .
. r:@ Q é O™ -l 0 ¢ ! 5 9 °la OO0 , Operating temperature C 0~70
EF:Z Tiir | i | - o TEET tij Working fluid Dry Air
Rough Guide QD E) - @ P f C
| S r rman r
MA:Air blow port (M5) < © 0 ance urve
MF:Seating check port (M5) <o 6. 0 | | | | |
T ) T b i d © T ) X Connection Holding Force JPtae
Tool Adapter] e o £ i & = ‘ ! 5.0 T
@ KWR@250-T G — e .$_ ¢_ e e @ @ G . .
Ottagawa . sl I )
. o n ! ] [ 224” O Connection Force ",,¢" =
) o ®73 : X
2-D4hT.Q oropi 3. i V/
6-Air port (M5) 2. —T
(For jointing) {§e - Lift Forc%jsf’/__”__—f
: B
(043 ol T
Thinned Part 0.30. 405060 70.80.91.0

Air pressure MPa

*The drawing shows the release condition.

CAREER SCALE TYPE | KWRO250
1:1 HAND CHANGER
4-M5x0. 8thread .
depthi11. 5 APPROVAL INSPECTION | DRW 3D NAME | OUTSIDE VIEW
| | | 3RD ANGLE

Kitagawa Corporation PATE @_g ﬁgw 616865221 O 2/2p
I 6

1 I 2 L el 5




	ｼｰﾄ2
	図面ﾋﾞｭｰ6
	図面ﾋﾞｭｰ7

	ｼｰﾄ3
	図面ﾋﾞｭｰ4
	図面ﾋﾞｭｰ5


